OPERATION & MAINTENANCE
MANUAL



5 srPIDA

MACHINERY

WARNING

This machinenust onlybe used by personnel who have been
LINR LISNE &8 AyadNHzOGSR Ay &t |

Operatorsmustalso wear the recommaeted personal protective
equipmentand have thoroughly read and understood this manu

Serial Plates

Allenquiries should be directed to:
SM2012 Ltd Knownas SpidéMachinery

Australia free phone 1800 146 110

America free phone 1888 262 9476

NZ free phone 0800 SPIDAS64 7 579 5010

Below is a copy of the serial plate displayed on the back ofidehine

G srPinpA

M A C |

MANUFACTURED BY SM2012 LTD
WWW.Spida.com
TAURANGA, NEW ZEALAND.

oot [ N - .

1 Operations Manuat, Spida Snip Saw 600



5 srPIDA

o &~ W N |-

6

9

MACHINERY

Contents
REVISION HISTOMY. ...ttt e s e e e e e e e e e e s e e eeaens 7.
(@] V1 PO PPPPP P PPPPPPRPPPPY 8
SPECITICALIONS. ...ttt ettt e e e e e e e e s e e e e e e e e e e e e e e e e e e e e e 9
INSTAITATION. ...t 11
5.1 Handling & TranSPOIL.......cooiii it e e e e e e e e e e e e e e e e e e e e e e e e e e e e s e e e s eaasaaaaans 11
5.2 INSTAALION. ... 11
S To (=] /TP PP PP PP PPPPP 13
LT R 10 [ o =T 6T ] 1T 13
6.2 Long Hair and LOOSE CIOthING........coviviiiiiiiiiie e 13
6.3  Cleaning and Maintena@@ of MacChINErY..........cccccciviiiiiiiiiieier e 13
6.4  Training and Supervision of Snip Saw 600 OPEratOrS.........ccceeiviirrrrreeeeriiiiireeeeanans 13
6.5 Responsibilities of Snip Saw 600 OPEratQrS...........cuveeeriiimirriieeeniiiireeee e 13
6.6  Operating Speeds and ViIbration...............oooii i cciiiiie e e 14
6.7 Machinery StabilityaNd LOCAtION............uuuiiiiiiiiiiiiiiieiiereeee e 14
6.8  ElECtrCaAl SAflY......uuuiiiiiiiiiiiiieiee e ————————————— 14
6.9 Isolation, hold cards and lock Out DEVICES............ccovuiiiiiiiiiiieiii e 15
6.10  INOISE CONMIOL....eeiiiiieeiie ittt e e e e e s e e e e e e asb e e e e e e e e annnnees 15
6.11 Manual HandliNg...........coooiiiiiii e e e e e e e e e e e e e e e e e e e e e e e s e e s s e ee s s aannennees 15
6.12 Recommended Service INTEIVAL...........ccuiiiiiiiiiiiiiie e 15
S To 1 O] 1] =i (o] 4 F PP EP PSPPI 16
7.1 USEE WAININGS. ..ttt ettt e e ettt e e e sttt e e e e s s bbbt et e e e e e aabbe e e e e e s e aasnbnneeeeeeaannes 16
7.2 ManUal HANAING .....eeeiiiiiiiii e e e e e e 17
AR T € 1= 1T | PSP PPPPP P 18
A @] o T=1 = 11T o U PP 19
S T /- 11 01 (] g = U (o = PP SO PRPPR P 20
7.6 RECOMMENUALIONS. ....ceiiiiiiiiiii it e e e e e e e e nnrr e e e e e e e aann 21
(@] 01T =11 aTo [ @0l 111 7o) =3O PPO 22
8.1  SNip SAW 600 CONIIOIS.....uuuiiiiiiiiiiiieiiiieee et ee et e e e e e e e e e e et e e e e e e e e ar e rreereeaseeeees 22
8.2  Snip Saw SPeed CONIOIS. ......ueiiieiiieieei e 24
8.3  PneumatiC filter/TE@QUIATON...........coiiiiiiiee e 25
(@17 - 11 (o] o NPT PPPRP PP 26
LS TR R |V = Vo o 11 1= T ] PRSP 26
LS I O o= - 11T o U 26
9.3 Speed aQjUSIMENT.....coiiiiiiiiiii e aaaaaaaens 27

Operations Manuat, Spida Snip Saw 600



5 srPIDA

MACHINERY

9.4 MaChiNg SNUTOWN.........oiiiiiiiii e e e e 27
10 PartS [dENTIICATION......cceiiiiiiiii et e e e e e e e e e e ennnees 28
10.1 TOPp LeVEl ASSEMDNY.....cccviiiiiiieieeee e e e e e e e e e e e e 28
10.2 Snip Saw Base Assembly (34071QQ)...........cccoiiiiiiiiiiiiiiirrrr e 29
10.3 Snip Saw Guard Assembly (3407200).........uuueeeiiiiirieeeieeee e 31
10.4 Snip Saw Motor/Blade Assembly (3407300).........cuuuuiieeiiiiiieiieeee e e e einneeeeees 33
11 = U g1 (=] 0= Lo o OO P PP PPPPRPPRRPPI 36
11,1 MAINTENANCE IEEIMS....ciiiiiiii ittt e e e s e e anes 37
I O I R 1 =T o £ PP PP PP UPPPPPTPRPI 37
11.1.2  Keep WOIK Grea ClEAL........cccii ittt e e 37
11.1.3  INSPECE CYINUEL......eiiiiieiiiiiieie e e e e e 37
11.1.1 Inspect Linear bearings an@iR...................cccciiiiii 37
11.1.2 MoOtOr Brake OPEIratiOn............uuuiuiiiimiiiiiiieiieieierieeeeeeeeeeeeeaeeaeeee e e s s e s s s e esssaesseannnnes 38
11.1.3  DUSE CRULE ClEAI.......ciiiiiiiiiiiie ittt 38

O T T R YT o = U PP PP 38
11.1.2 Clean Saw of any DUIld UP......ccuuiiiiiee e 39
11.1.3  NOISES OF VIDIAtIONS .....ceiiiiiiiiiiiiie et 39
11.1.4 Clean aluminium exXtrusSion SIOLS...........ccuviiiiiiiiiiiiiie e 39
11.1.5 Emergency StOP BUQN........covviiiiiiiiieeiee e 39
11.2.6 DY Al SUPPIY. .ot 39
O O A N | G 1 o] ]| PP PPP P PPPPPPPPPN 39
11.1.8 Check Filter/RegQUIALON............cooe i e e e e e e e e e e e 39
11.1.9  BasSe ASSEMDIY......cccciiiiiiii e e e e e e e e e e e e e e e e e e e e e e ————— 40
11.1.10  Guard asSemDBIY......ccoiiiiiiiiiieiiiiiiieece e eeneeee . A0
11.1.11  Motor/Blade assembBIy..........ooiiiiiiiiiiii e 40
11.1.12 1Y/ o] (o ] TP 41
11.1.13  Loose Fasteners and FiXiNQS ......cuueiieeiiiiiiiiiieeiieeeeeeeeeeee e 41
0 0 S = o] (= (] o TSP P U U TR TRRP 41
11.1.15  Maintain Snip SAW 600..........oouieiiiieiiiiie e 41
11.2 Blade REPIACEMENL. .......coiiiiiiiiiiii ettt e s e e e e e r e e s e anannreeeaeas 42
11.3 Replace MOTOr BraKe...........ue e 43
0 R o O = = 1= 43
11.3.2  L1O0V BraKES.....uuuieuiiiiiiiiiiieieieeeee ettt ettt e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e eeeeeeeees 44
11.3.3 190V BIaKES....coieeiiiiiiiiiiee ettt ettt e e e e e 45
12 FOreSEEADIE IMISUSE ......eiiiii ittt e st e e e e e s st e e e e e e a 46

Operations Manuat, Spida Snip Saw 600



5 srPIDA

MACHINERY

13 Trouble SNOOTING........uuiiiieei e e e e e e a7
13.1  MeChanIiCal FAUILS.......ccoiiiiiiee e 47
13.2  SOfWANE FAUILS.....cooiiiiiii i 51

14 Distributor & Repairer CONACIS........uuuiiiiiiiiiiiiiieeeee e 56
141 AQENUDISTIDULOL. ... .eiiiiiie ittt e e e s e e e e e e ans 56
14.2  AULOMALION REPAIIS. ...ciieiiiiiiiiiie e ettt e e e e e s e e e e s s s rreeeeeeaanes 56
14.3 MeChaniCal REPAIIS.......ciiiiiiiiiiiii et e s e e s eeas 56

15 A A= T =/ PO PUPPPRPPN 57

16 [ [=Toa (o= U I = \1L T o PSPPI 59
16.1  NZEIECICAl DIaWINGS. . .ciieiiiiirieiiiee ettt e e e e e s eee s 59
16.2 NZ Electrical Drawin@SWith VSD.........cooiiiiiiiiiieiiiiiieceee e 62
16.3  US EIECtrical DrawWingS........ccooieiiei et r e e e e e e e e e e e e e e aaaaaaaaaaeas 67
16.4 US Electrical DrawingSWith VSD.........ccccciiiiiiiiiieeeecccninnnnvsneeennnn O

17 PeumMAtiC DIAWINGS. ... uuuiiiiiiiiiiiee et e et e e e e e e e e e e e e e e e e e e e s e e e s e e e s s e an e an e baeereeseeeeees 75

18 Training Certificat@ Snip SAW 600...........euiiiiiiiiiiiiiiee e 76

4 Operations Manuat, Spida Snip Saw 600



5 srPIDA

MACHINERY

Tables

Table 1, Snip Saw 600 SPECITICALIONS.........uveiiieiiiiiiiiei e ee e 9
TabIe 2, GENEIAI HAZANIS. ......ceeeeieiie ettt et e ettt e et e e ettt e ettt e ee e eeeta s ettt eeeanreeerrees 18
Table 3, Operational HAzardS...........cooooeeiiiiiioi e e e e e e e e e e aaaaeeeeeas 19
Table 4, MaintenanCe HAazZardS............uevieiiiiiiiiiiiieeee e 20
Table 5, Control fUNCLIONS (SEE FIQUIE A)Y.......ccoi i e e e e e e aaaaaaa e 23
Table 6, FIow controller FUNCHIOMS.........cooiiiiiiiiieiieeee e e e e e e e e e e e e e e e e 24
Table 7, Valve/FIter/RECAIOI PAITS........uuuuiiiiiiiiiiiiiiirererieer e e e e e e e ae e e e e e e e e e e e e e e s s e ee s e s s e s ssaneanrennee 25
Table 8, Parts LISISNIP SAW 600..........uuiiiiiiiiiiiiiee e e e e e e s ee e e e e e e 28
Table 9, Snip Saw Base ASSEMDBIY PArtS.LSL..........cccurriiiiiiiiiie e 30
Table 10Snip Saw Guard Assembly parts.liSt.........ceeeeiieiiiiiii e 32
Table 11, Snip Saw Motor/Blade ASsembly partS.JiSt...........cccvvvreeiriiiiiiiiiee e 34
Table 12, MaiNtENANCE INTEIVAUS. ....... ittt ettt e et e e et e e et e e e e e e e e e errarreenns 36
Table 12, Blade replalBent PArtS.........uuuuuiieeieeiieiiieeeiee e e e ee s s eeeeeeeees 42
Table 14, COMMON MISUSE ISSUBS......cccceeeeeeiieeisiiiiieesenineinnrenreeeeesrrneeeereereereeeesseeseeeeeeeeneeees 40
Table 15, Trouble SNOOLING.........ccoooiii e e e e e e e e e e aaaeaaaaaa e e e e e 47

5 Operations Manuat, Spida Snip Saw 600


file://///carl/E/Manuals/34%20Snip%20Saws/3407000/3407000.docx%23_Toc8379331

5 srPIDA

MACHINERY

Figure 1, NZ CUttiNng G OMIELIIY. .....ceiiiiiiiiiieeiie e et e e e e e e e e s e s e e e e e e ennnnees 10
Figure 2, US CULtNG GEOMIBLLY. .. .uuuiiiieeieeeieei et e ee e et e e e e e e e e e e e e e e e e e e s s ee s st r e e s aesseeeeeeeeeees 10
Figue 3, Recommended exclusion zone around the Snip Saw.600.............cccvvireeeiiiiiiieenennn. 14
Figure 4Snip Saw 6000NTIOIS. .......cciiiiiiiiie et e e e e e e 22
FIgure 5, FIOW CONMIOIIELS..........coo i r e e e e e e e e e e e e e e e e e e e e e e e e s e e e s s e s s aaaanns 24
Figure 6Valve/Filter/Regulator assembIy..........coooiiiiiiiiiii e 25
Figure 7, SNip SAW B00.......coiiiiiieiiiie e a e aaaaaaaaas 28
Figure 8, Snip Saw Base ASSEMDIY........ciiiiiiiiiiiiiiee e e e 29
Figure 9Snip Saw Guard ASSEMDIY..........uuiiiiiiiiiiei e 31
Figure 10, Snip Saw Motor/Blade ASSEMLY..............uuuiiiiiiiiiiiiiieiieeeeeceeee e, 33
Figure 11, Motor brake assembly............ueeiiiiiiii e 38
Figure 12, Blade REMOVAL.............cooo i e e e e B2
Figure 13, Connection Diagram for FPC Brake..........ccccuuiiiiimiiiiiiiiiieieeeeeeeeeeee e 43
Figure 14, Brake AGJUSTMENL..........coooiiiiiiiiiie ettt s s e e e e e e e e e s eeee s 43
Figure 15, NZ Electrical drawingS.pL.......oooiiiiiiiiiii e 59
Figure 16, NZ EIeCtriaBawingsS P2.........uuuiiiiieiiiiiiiieee ettt e et e e e s nnnre e aee s 60
Figure 17, NZ Electrical drawiNgS D3 ... ..oeii i eiiiiiieieee ettt e e e s e e e s s nnnnneeeaeeas 61
Figure 18, NZ Electrical drawings with VSD.PL.........ovvviiiiiiiiiiiiiiiiiieeeee e 62
Figure 19, NZ Electrical drawings With VSDLP2..........uuiiiiiiiiiiiiieeeee e 63
Figure 20, NZI&ctrical drawings With VSD P3......uuiiiiiiiiiiiiiicciccecieeeeeeeieeeeeeeeee e 64
Figure 21, NZ Electrical drawings with VSD.P4........ouvvviiiiiiiiiiieiiiiiieeee e 65
Figure 22, NZ Electrical drawings With VSDLP5.........ouiiiiiiiiiece e 66
Figure 23US Electrical drawings Pl......c.ooviiiiiiiiiiie e 67
Figure 24, US Electrical draWingS.R2........cuuieiiiiiiiiiiee et eeeae s 68
Figure 25, US Electrical drawingS.R3........ooi oottt e et ea e 69
Figure 26 US Electrical drawings With VSD.PL........uuuiiiiiiiiiiiiiieiieeieeeeeeeeeeeeeeeeeeeee e, 70
Figure 27, US Electrical drawings With VSD.P2............ooiiiiiiiiiiiiie e 71
Figure 28, US Electrical drawings With VSD.P3........ouiiiiiiiiiiiiiieiieeeeeeeeeeeeee e, 12
Figure 29, US Electrical drawings With VSD.pd.........uvueiiiiiiiiiiieiiiiieeeeeeeeeee e, 73
Figure 30, US Electrical drawings With VSD.P5...........ooiiiiiiiiiiie e 74
Figure 31, Pneumatic SChemMaLtiC...............coocciiiiiiiiiiiieeeeeeree e ss s s e d D

6 Operations Manuat, Spida Snip Saw 600



5 srPIDA

MACHINERY

2 Revision History

Rev B:

- Updated cutting geometry image, plus added an image for US cg@ometry
- Updated Electrical drawings

Rev C:

- Removed various typos throughout the document.

- Added more info to/updated variaisections; includindut not limited to:
0 Operating Controls
0 Operation

Operations Manuat, Spida Snip Saw 600



5 srPIDA

MACHINERY

TheSpida Snip Saw 6@0a popup blade sawdesigned to provide pneumatically operated
clamping and cutting cyclehich removesi KS 2 LISNJ 42 NRA KIFyRa FNRBY GKS

TheSnip Saw 60Must be used per the standard operating procedures set out in this manual. Any
actions carried out which are not contained in this manual areemdorsed by Spidslachinery and
cannot be warrated.

All operators should read and then sign the register of this manual before operatir@nthesaw
600to ensure they are thoroughly familiar with the machine capabilities, limitations and to ensure
correct operating procedures are adhered too.

Only those operators that have received training on the correct operation ofShi@ Saw 608re
deemed competent and qualifies to operate the machine.

TheSnip Saw 60test procedures must be performed at installation and after any maintenance,
adjustment, rep& or modification of the machine. The test procedure is available on request.

The competent operator must also regularly perform the recommended maintenance procedures
and checks detailed in this manual.

All electrical wireeind pneumatic linemust be séas to not allow their movement through any
areas of adjacent machinery that could cause them to be damaged or severed.

This manual offers many safety tips, but its purpose is not to provide instruction in all the skills and
techniques required to manufaiere timber frames safety and efficiently.

Due to improvements in design and performance during production, in some cases there may be
minor discrepancies between the actual machine and the illustrations and text in this manual.

8 Operations Manuat, Spida Snip Saw 600



5 srPIDA

MACHINERY

4 Specifications

Tablel, Snip Saw 608pecifications

Overall Width
Overall Height
Overall Length
Working Width
Working Height
Working Length
Weight

Material Feed
Inner Guard Height
Depth of Cut

Saw Blade

Saw Arbor

Arbor Motor

Power Requirement
Air Supply

1160 mm

1192 mm

1190 mm

760 mm

870 mm

470 mm

290 kg

Left or Right

148 mm

470 mm

600 mm

35 mm

5.5 kW (7.5hp) 3 Phase
25 Amp, 23160V, 3 Phase
6-8 Bar (606800 kPa)

Specifications may change without notice

Notes:

1. Sawcan be assembled in left or right configurations

Operations Manuat, Spida Snip Saw 600



I'N E RYY

M ACH

SrPIDA

S

Figurel, NZ Cutting Geometry

Figure2, US Cutting Geometry

Operations Manuat, Spida Snip Saw 600

10



5 srPIDA

MACHINERY

5.1 Handling & Transport
1 Box all additional parts and secure with thmachine

1 Using a single fork truck, lift the machine package underneath using the forklift spaces
provided

9 Once on thetuck, tightly strap the machindut not over the Lid assembly.
1 Donot place any loads on top of the machine

9 The machine should be kepet from road grime and rain, and should always be covered
while being transported

TheSnip Saw 60@ill be delivered in large component form and will require assembly on site by
trained personnel. Dueare and attention should be given whilst unpackimg components from
their packaging materials. Amamage caused whilst in transit should be notedniediately and
SpidaMachinery informed. Refer teection4 specifications for weights ahdividual components
when selectindManual Handling Equipmemnéquired,prior to positioning them on the selected site.

5.2 Installation

1 Itis advisable to forklifthe machine package as close to the final assembly point as possible
to reduce manual lifting

1 The final operating position of the machine must be free from any rubbish or impediments

9 There must be good lighting in the installation area to allow propeitiooéng of the
machine

9 The ground on which the machine rests must not vary by more than 36wema2m x 2m
area

1 TheSnip Saw 608hould be leveled using adjustable feet. Once level, machine should be
bolted to the floor through holes provided.

9 Electricakommissioning to be to local standards and be performed by a qualified electrician

Thesite selected for thé&nip Saw 60@ill depend on the ground. Thground chosen should be
clean and free of water or possible flooding. Hrea on which the frameworgits must be as even
and horizontal as possibl&his can be achieved by adjusting tieghtof the feet. There should be
no twist to the framework oncehe feet have been adjusted to take the grouintb account.

The final operating position of the miaine should be free of all rubbish mnpediments with
generd access to all areas of tl@nip Saw 60fr the ease ofoading and unloadingaterial of
varying sizes.

With the machine in position, a qualified engineer should be used to cothe@neumatic

components to the machine and adjust the air pressure torétpiired settingrefer to section4
Specificatios for pressure settings)

11 Operations Manuat, Spida Snip Saw 600



5 srPIDA

MACHINERY

Checkallpneumi A O K2aSa FyR 02yySOi2 Nawoike lo&sy dudatS
transportation of the machine. Rigghten all fittings thatappear to be leaking. If l&ing persists
undo the fittingsandapply a sealingompound to the joints in qué®n. Retighten the fitting. (Ay
seriousleaking problems during the warranty period should be reported to Sididehinery). Check
the air pressure in the system is sufficientojperate the machine (refer teection4 Specificatios
for pressure settings).

To check the air pressure, turn the compressor on and allow the pressbreltbup. When the
controls are activated, normal pressure shotgdd 68 bar or ®0- 800 kPaAll maximum pressures
are factory set and should not be changed.

Check that all safety equipment is functioning properly.

12 Operations Manuat, Spida Snip Saw 600



5 srPIDA

MACHINERY

6 Safay

This section is provided as a guide only, it is the responsibility of the emplogestwe compliance
with the relevant Health and Safety Regulations applicable to them at the time.

6.1 Young Persons

No person under the age of 15 should be allowed to operate or assist with the operation of
machinery.

6.2 Long Hair and Loose clothing

Any long haior loose clothing must be fully contained to eliminate the risk of entanglement with
machinery.

PROTECTIVE SAFETY CLOTHING AND EQUIPMENT MUST BE WORN; INCLUDING:

Eyewear

Hearing protection

Respirator or Dust mask ﬁ
L

Protective Clothing

Safetyfootwear

6.3 Cleaning and Maintenance of Machinery

For safe and reliable use, machinery should be regularly cleaned and maintained. During cleaning
and maintenance, th&nip Saw 60Must be isolated from all sources of energy and locked out to
prevent unexpeatd operation.

6.4 Training and Supervision ®hip Saw 600perators

No person should be expected or allowed to operate $mip Saw 600ntil they have been fully
trained and authorised to do so. They must be familiar with:

1 Actual and potential hazards and@ppriate controls

Correct use and adjustment of guards

Emergency procedures

How theSnip Saw 60@/orks

Checks to perform prior to starting

How to recognise potential faults

Location of controls and how to Stop and Start 8rdp Saw 6Q0

= =4 =4 4 -8 -4

6.5 Responsiliies ofSnip Saw 600perators
Operators should:

1 Checkhe Snip Saw 600rior to use and during operation to ensure it is in sound operating
order.

1 Report immediately any defects noted to their supervisor

Use any, and all safety equipment provided

1 Not operate any machinery if under the influence of drugs or alcohol, consult a physician or
pharmacist if unsure of any medication.

=

13 Operations Manuat, Spida Snip Saw 600



5 srPIDA

MACHINERY

6.6 Operating Speeds and Vibration
Machinery should be operated within its designed limitations and for its designed use only, any
unfamiliar noise, vibration or failure should be investigated and remedied promptly.

6.7 Machinery Stability and Location

TheSnip Saw 608hould be securely fastened to the structure of the building to prevent movement
or toppling over. Location should provide access all around for maintenance and cleaning. Lighting
must be adequate to allow operator to clearly see controls and work piegesot glaring or

blinding.

Consideration should be given to the operators work area for product flow and to minimise
repetitive actions and unnecessary movement.

An exclusion zone around tf&nip Saw 608hould be maintained to prevent persons not difgct
involved with the operation of the machine from reaching any part of the machine.

P HEFESF TIPS PSS

1000mm

1000mm

i Ny Ny M N R

1000mm

L]

E|
£
S|
8|

T T T T T T T T T

L R

PAFXIIFPRITT FFE

Figure3, Recommended exclusion zone aroundShg Saw 600

6.8 Electrical Safety
Electrical wiring must be installed and maintained by a suitqbglified person in accordance with
relevant regulations.

14 Operations Manuat, Spida Snip Saw 600



5 srPIDA

MACHINERY

6.9 Isolation, hold cards and lock out devices
There should be procedures for isolating and locking outShi Saw 6QGor purposes of
maintenance and to prevent unintended use should a fault haenhbdentified.

6.10 Noise control

The normal operation noise of some machines will be more than permitted noise exposure levels.
Employers must ensure adequate hearing protection is available and is used by all persons in the
affected area.

6.11 Manual Handling

Manual handling should be avoided where possible, use of mechanical lifting and assisting
equipment is recommended. Consider using forklifts, hoists, and trolleys to eliminate lifting and
carrying components.

6.12 Recommended Service Interval

It is recommended thiafor optimal performance, th&nip Saw 608hould be serviced evefy

months.

It is also recommended that a service log be kept, as a reminder of when the next service should be
due. Spida Machinerperforms service runs on a regular basioughout NZhowever, should the

need arise for an early service, or should a service need to be booked in advance, please advise
Spida Machinery accordingly.

WARNINGDo not operate theSnip Saw 60@ithout having received the
properinstruction in operation and safety from this manual.

WARNINGIt is recommended that the employers maintain training records
demonstrating the competencies of each employee

15 Operations Manuat, Spida Snip Saw 600



S

SrIDA

MACHINERY

NOTE: Th8&nip Saw 6013 to be operated in accordance with tmsanual. Deviation from this
specified operation may result in incorrect cutting or injury.

7.1 User Warnings

T
1

= =

= =4

16

All moveable parts of the machinemyust be set so as not to allotsimovementthrough

the hazardous areas of adjacent machinery.

All machine and components should be inspected ugelivery and at weekly intervals for
looseness, fracture, bends, sharp edges or surfaces and any other condition that may
contribute to a human mishap or further deterioration of the machine. We suggéxi be

kept for this purpose.

When broken, damaged, or loose parts (or any condition that may represent a hazard) are
observed, corrective action should be taken immediately. Inadequate attention to maintain
the machine can cause the premature failuretledse partsWe suggest this information also

be logged.

The electrical boxes should always be locked to avoid casual entry by unauthorized persons,
as touching live surfaces is hazardous.

Neverremove the guards, or places afayeign objectswithin the lid,when the Saw is running
Split, brokenwarped, twisted or material with excessive wane should be avoided or used with
caution because of the greater possibility of the material not being held securely during
manufacturing processes.

The machine is not to be used for any other purpose tti@cutting of material.

Keep hands out of moving parts on the machine. Operators should be instructed not to extend
fingers or limbs into or beyond the vicinity of the warning labels. The danger here is obvious
¢ fingers in these areas will risk mutilation.

Be sure the machine is completely free of foreign objects, and that all guards are in place
before connection to electrical supply

Any guards removed for maintenance or adjustmentsst be replaced before the machine
is put back into service.

Exceedinghe capabilities of the machine will void the warranty and could lead to a serious
injury.

All Operators should read and then sign the register of this manual before operati@nihe
Saw 6000 ensure they are thoroughly familiar with the machine captédiand limitations
and to ensure correct operating procedures are adhered to.

Failure to perform the daily and weekly service checks as per the schedule may result in
serious machine damage or a severe accident.

WARNINGThis machine must only mperated by personnel who have been
LINPLISNI @ AYyadaNHzOGSR Ay FEf FawLsSotda 27
be wearing the recommended protective clothing and have thoroughly read and
understood this operation and service manual.

Operations Manuat, Spida Snip Saw 600



5 srPIDA

MACHINERY

7.2 Manual Hanting

The following is not a comprehensive list. Manual lifting has the potential to be hazardous; so, for a
full description of material handling please refer to lifting standards, techniques, and your own
company policies.

Ensurematerial supply isia forklift or other support mechanism

Ensure correct lifting techniques are adopted to transfer material

Suggest use of trolleys or bench at required height and location to minimize handling and
twisting

Ensure required PPE is worn

Ensure correct and gpopriate lifting techniques are used

Suggest the setup of aaterial supply via gravity roller transfer system

Avoid twisting torso when moving components from one area to another

Only lift components of weight which you assess to be within Yimit

Use machinery (forklift) for material decreed to be too heavy or ask for assistance from
another worker

= =4 =

=A =4 =4 =8 -4 =9

17 Operations Manuat, Spida Snip Saw 600



5 srPIDA

MACHINERY

7.3 General

Table2, General Hazards

POTENTIAL HAZARDS
Safety

Poor Guarding

Poor Housekeeping
Electrical Air SupplyFaults
Inoperable Safety Switches

Incorrect Accessories
Foreign Objects

Defective/Damaged parts

SAFE WORK PROCEDURE

Askquestions if you have any doubts about doing the work safe
Check and adjust all safety devices daily.

Ensure all guards are fitted correctly and are adequately guard
the saw bladeand moving parts. Make sure guards are in positi
andin good working order. Do not operate machine without
guards.

InspectSawand surrounding areas for obstructignsazardsand
defects.Remove builup debrisfrom around machine, electrical
leads pneumatic linesand powerpoints.

Inspect electrical leadsnd/or pneumatic linegor damage.

Check that start/stop and emergency stop buttons operate
effectively.

Use only the accessories designeddach specific application
Check that foreign objects and maintenance tools ate
removed from the machine befonasing the machine

Any identified defects must be reported and actioned prior to u
of the Snip Saw 6Q0

WARNINGThis machine must only be operated by personnel who have been
LINRLISNE & AyadaNdHzOGSR Ay Ftf | &LIS @ldoa

be wearing the recommended protective clothing and have thoroughly read and

understood t

18

his operation and service manual.

Operations Manuat, Spida Snip Saw 600

27

i K



5 srPIDA

MACHINERY

7.4 Operation

Table3, Operational Hazards

POTENTIAL HAZARDS
Slip, Trip & Falls

Workplace

Housekeeping

Defects

Personal Protection
Machine Guarding
Improper Use

Material Defects

Operator Technique

Hit by projectiles

SAFE WORK PROCEDURE

Avoid avkward operations and hand positions where a sudden slip coulc
cause your hand or part gbur body to move into the sawing linElectric
power cords and pneumatic lines sholld above head level or in the floor
in such a way that they are not trip hadar Floorareas should be level and
non-slip. Clean up any sgilmmediately

Use good lighting so that the work piece and machine controls can be st
clearly. Position or shade light sources so they do not shine ingheatora ¢
eyes or cause glare and reflections. Ensure that the floor space around"
equipment is sufficient t@llow the operator to process his work without
bumping into other staff or equipment. Keep the work area free of cluttel
clean, well swept and well lit.

Clean built up debrisom around the machine, electrical leggmeumatic
lines,and pwer points

Report all defects to the supervisor

Wear safety glasses or a face shield. Wear hearing protection that is sui
for the level and frequency of the noise you are exposed to in the work ¢
Wear dust mask&hen required. Do not wear gloves when operating this
machine. Do not wear loose clothing, work gloves, neckties, rings, brace
or other jewellery that can become entangled with moving parts

Make sure all guards are fastened in pasitiThe machine MUST NOT be
operated with any of the guards removed. The machine is fitted with ste
guards.

Only use the machine for what it has been designed for.

Inspect stock for nails or othéoreign materials before sawingJse only
materialthat the machine has been designed to accommodate.

Do not impede the movement of theawwhile in use. Ensure any body
parts, clothing, or work tools doot get in the way of moving parts. Only
place material once th&8awis in the home position and has come to a
complete haltDo not attempt toactivatethe Sawbefore material has been
removed.

TheSnip Saw 60Must be electricalland pneumaticallyisolatedbefore
attempting to clear blockages amaterialjams. Any small off cut should be
removed using a push stick which has been properly construbtechot use
fingers to remove items which have become entangled in movable parts

WARNINGThis machine must only be operated by personnel who have been
LINPLISNI @8 AYyadaNHzOGSR Ay FEf FaLsSoGa 27
be wearing the recommended protective clothing and have thoroughly read and
understood this operatin and service manual

19

Operations Manuat, Spida Snip Saw 600

i K



5 srPIDA

MACHINERY

7.5 Maintenance

Table4, Maintenance Hazards

POTENTIAL HAZARDS
Cleaning and maintenance
preparation

OperationalButtons

Emergency Stop Buttons

Incorrect electricahnd
pneumaticisolation of
machine

Incorrect tools

Stalled Blade
Guarding

WARNINGThis machine must only be operated by personnel who have been

SAFE WORK PROCEDURE

Lock out (pneumatically isolate), arsblate power to the machine
before inspecting, changing, cleaning, adjusting or repairing a
machine. Do not use compressed air to remove sawdusfreta
machines or clothing.

Make sure thaOperationalbuttons are in good working calition
and within easy convenm reach of an operator. Btons should be
protected so that acidental contact will not upseéhe machine.
Make sure thaEmergencystop buttons are in good working
condition and within easy convenient reach of an operator.
Machinepower must be switched ofat the Main Power Switch,
andthe airlocked outat the main isolator before maintenance or
cleaning.

Use Correct tools for the job to minimise persondliip and
damage to the machine

Isolate powerand airbefore attempting to free a stalleblade
Ensure Guarslare fittedcorrectly, adjusted and in goaglorking
order.

LINRLISNE & AyadaNdHzOGSR Ay Ftf aLlSoda

be wearing theecommended protective clothing and have thoroughly read and

understood this operation and service manual

20

Operations Manuat, Spida Snip Saw 600

27

i K



5 srPIDA

MACHINERY

7.6 Recommendations
That the operator is trained, on induction of the dangers of accessing the machine operating area.

The electrical system is te serviced, by a qualified electrician only.

¢CKFG Fff 2LISNIG2NAR INB 61 ft1SR GKNRdAAK GKS 2 LISNI
That good housekeeping is always maintained to avoid the risk of slipsptrighs.

That approved eye and hearing protection is always used when operating the machine.

That approved dust masks and safety footwear are always worn when opetta¢imgachine.

That if the machine is not operating as efficiently as specifiedofi@eator notify their supervisor
who in turn takes appropriate action and eliminate the problem if possible.

All guards and safety devices are not to be removed.

It is recommended that gisual exclusion zone be marked the floor on a one metre (1000mm)
perimeter surrounding the working area of the machine. To identify the work space to pedestrians.

WARNINGThis machine must only be operated by personnel who have been
LINPLISNX @ AyadaNUzOGSR Ay opefafion. Theydfudlso 2 F K
be wearing the recommended protective clothing and have thoroughly read and
understood this operation and service manual.

21 Operations Manuat, Spida Snip Saw 600



5 srPIDA

MACHINERY

8 Operating Controls

Before attempting to operate th&nip Saw 6QFamiliarise yourself with the location aridnction of
each control.

8.1 Snip Saw 600 Controls

Snip Saw Motor/Blade assembly

A(1:75)

Figure4, Snip Saw 6006ontrols

22 Operations Manuat, Spida Snip Saw 600



S

SrIDA

MACHINERY

Table5, Control functions (sdegured)

Control Qty
Basic
1 2
(1 pair)
2 1
3 1
4 1
5 1
Sensors
A 1
B 1
C 1
23

Function

Saw blade activation button (Twdand

No-Tie Down)
Start/stop button

Reset button
Emergency stop

Power Control foSaw- On/Off switch

Lid safety valve
Proximity senso¢ Maximum height

Proximity senso¢ Minimum height

Description

Activates saw blade whdvoth buttons are pressed at the
same time.

Starts/Stops the machine operation as required.
Resetoverload(if the saw is attached to a Simple stpp
Cuts all power to the machine in caseeofiergency. This
must be deactivated before operations can recommence
Turns the power to the machine on/off as required

5SGSNX¥AYSa ¢KSGKSNI (K Sllofv A
operations to commence until lid is closed.
22yQi Fft2¢ GKS alg ofl
height

22yQi Fft2¢ GKS albdowthis!l RS
height

puj
(0p))

WARNINGThe Emergency stop button will disable the machine electrically

pneumatically

Operations Manuat, Spida Snip Saw 600



5 srPIDA

MACHINERY

8.2 Snip Saw Speed Controls

The speed of various operations can be adjusted using the flow controllers as follows:

1| I 11
i 1( AL U é ¢ {,
Flow Controller A
Flow Controller B ™
Figure5, Flow Controllers
Table6, Flow controller Functions
Flow Function Adjustment effect
Catroller
A Adjusts Speed of motor going Opening flow controller increaséise speed of both operations
down/Clamp up Closing flow cotroller decreases the speed of both operation
B Adjusts Cutting speed and Opening flow controller increasdise speed of both operations
Clamping Closing flow controller decreases the speed of both operatio

24 Operations Manuat, Spida Snip Saw 600



5 srPIDA

MACHINERY

8.3 Pneumatic filter/regulator

E

Figure6, Valve/Filter/Regulator assembly
Table7, Valve/Filter/Regulator parts

Control Function

Valve on/off

Air in

Pressure relief valve
Pressure gauge
Moisture release
Mounting bracket
Regulator adjustmen
Air to saw

IOTMMmMOO >

WARNINGDo not operateSnip Saw 60@ithout the correct knowledge and
function of each of the controls.

25 Operations Manuat, Spida Snip Saw 600



5 srPIDA

MACHINERY

9 Operation

NOTE: Th8&nip Saw 6013 to be operated in accordance with this manual. Deviation from this
specified operation may result in incorrect cutting or injury.

9.1 Machine Seup
Before operations commence, the operator must ensure that$hg Saw 60Bas been seup
correctly.

To setup the machine:

- Ensure that the safety guards are secured eodectly positioned.

- Complete a visual inspection of potential hazards near the proximity of the machine.

- Check that there are no obstructions either to any moving parts; betweeisttie Saw 60a8nd
any adjacent machining area; or further down the fragiime.

- Complete all safety checks required

Once the Saw and the surrounding aeea satisfactorily clear, th8nip Saw 606an be switched on.

9.2 Operation

Note: The clamping and sawing operations use a Two Hand No Tie Down (THNTD) pneumatic
initiating sysem, which ensures both hands of the operator are clear of the clamping operation and
the saw blade operation.

Activate attached tables as required

Start Saw blade

Load timber to be cut onto #eed bench

When timber is in place, place both hands on séadé activation buttons, and hold down
both at the same time to activate both the clamp and the saw blade

Make the cut/s on the leading end of the timber

Move the timber along to the Stop

Make the required cut/s on the trailing end

Remove and stack finistanember

Continue cutting required cut list

PopbPE

©o®o~No O

The lid guard should not need to be raised during operation.
If the lid guard is lifted for any reason while the saw is running it will immedieiglgr lower the
saw blade beneath the tablep or prevent the saw blade from rising

Never go behind the fence line when the Saw is running.

Always keep hands clear of Saw Bladsd Saw Blade path

26 Operations Manuat, Spida Snip Saw 600



5 srPIDA

MACHINERY

9.3 Speed adjustment
The speed of various operations can be changed by adjusting the flow controllers attached to the
main up/down cylinder on the Rotation Assembl

If the cutting, clamping, or motor adjustment speeds are not correct, then increase/decrease the air
flow using the flow controllers as required. See Sedgidrigure5 for adjustment details.

If cutting large pieces of material, elgntels, it is advised to decrease the clamping and cutting
speed by closing flow controller B.

In general, it should not be necessary to adjust flow controller A

NOTEEnsure that the machine is locked out pneumaticalhd electrically before any adjustments
are made; and bsure that any components/guards removed are then replaced correctly.

9.4 Machine Shutlown
Once operations are complete, ensure thia¢ Snip Saw 603 switched off and any foreign
tools/equipment are removed.

WARNINGDo not stack finished members on the ofied bench

27 Operations Manuat, Spida Snip Saw 600



5 srPIDA

MACHINERY

10 Parts Identification
10.1 Top Level Assembly

Figure?, Snip Saw 600

Table8, Parts List Snip Saw 600

ITEM QTY PART NUMBER DESCRIPTION

1 1 3407100 Snip Saw Base Assembly

2 1 3407200 Snip Saw Guard Assembly

3 1 3407300 Snip Saw Motor/Blad&ssembly

4 1 SMPDEC029 SMPDECO029 SnipSaw600 500x60 SPII

28 Operations Manuat, Spida Snip Saw 600



5 srPIDA

MACHINERY

10.2 Snip Saw Base Assem3¥07100)

Available space for
Electrical cabinet
(Electrical cabinet only used in
conjunction with automated table)

VSD
(Variable Speed Drive)
(U.S only)

Figure8, Snip Saw Base Assembly

29 Operations Manuat, Spida Snip Saw 600



5 srPIDA

MACHINERY

Table9, Snip Saw Base Assempaéyts list

ITEM QTY PART NUMBER DESCRIPTION

1 1 3407101 Snip Saw Base

2 1 3407102 Rear Guard

3 1 3407103 Blade Guard

4 1 3407104 Side Guard

5 1 3407105 Side Guard Extraction

6 1 3407106 Electrical Cabinet Cover

7 20 HWCSM620BH  Button Head Cap Screw M6x20
8 6 HWCSM620CS Hex Socket CSK Cap Screw M6x:
9 2 HWFP1875 Flush Pull Handle Part#1875
10 20 HWWFM616 Washer- Flat- M6ZP

30 Operations Manuat, Spida Snip Saw 600



5 sPIDA

MACHINERY

10.3 Snip Saw Guard Assem{d¢07200Q

Figure9, Snip Saw Guard Assembly

31 Operations Manuat, Spida Snip Saw 600



5 srPIDA

MACHINERY

TablelQ, Snip Saw Guard Assempbrts list

ITEM QTY PART NUMBER DESCRIPTION
1 1 3407201 Guard Handle
2 2 3407202 Guard
3 18 HWCSM516CS Hex Socket CSK Cap Screw M5x:
4 4 HWCSM620BH Button Head Cap Screw M6x20
5 4 HWCSM820BH Button Head Screw M8x20
6 3 HWHB856016 Butt Hinge
7 9 HWNHM5 Hex nut M5
8 4 HWNHM6 Hex nut M6
9 4 HWNHMS8 Hex nut M8
10 9 HWWFM5 Flat Washer M5
11 8 HWWFM616 Washer- Flat- M6ZP
12 8 HWWFM816 Flat Washer M8
32 Operations Manuat, Spida Snip Saw 600



5 srPIDA

MACHINERY

10.4 Snip Sawotor/Blade Assembl{B840730Q

g

(48) (10) i \ Prox Sensor [
® ®©

.
- el
R o :
~ -
~
3 2 o
~
- p L
AR ‘ @
| \
\ .
‘ '

FigurelO, Snip Saw Motor/Blade Assembly

33 Operations Manuat, Spida Snip Saw 600



S

SrIDA

MACHINERY

Tablell, Snip Saw Motor/Blade Assemipligrts list

© 0N U WNRE G
m
<

A BEA DB D WOWWWWWWWWWWNDNDNDNDNDNMNDNMNNNMNNRPREPRPEPRPEPRPERPEPRPEPRRLER
W NP OOWWO~NOUDWNPEPOOONOUUMWDNMNPEPOOOONOOOG PA~AWDNEO

34

QTY

OCRNRONNRRPRNMNMNRPRRPNRRPMNRPRNRPRRPORNRPRENRPRENRPRRRRLERELSR

NN DNWORLRREP RN
(6] DN O -

PART NUMBER
3407301
3407302
3407303
3407304
3407305
3407306
3407307
3407308
3407309
3407310
3407311
3407312
3407313
3407314
3407315
3407316
3407317
3407318
3407319
8530408
ACCP96SDB&5B0C
ACGKM2040
ACL5080
AVVM43001-06S
BL60035848500
BRGLBIGH30CA
BRGLRHGH304A0-20-80-20
EMS.5LMULTI
HWCSM10100
HWCSM1230
HWCSM1240
HWCSM612BH
HWCSM625
HWCSM630
HWCSM630CS
HWCSM825CS
HWCSM830
HWCSMB830CS
HWCSM840
HWCSM840CS
HWCSM870
HWNHHNM12
HWNHM10

DESCRIPTION

Table Top

Gusset (Motor)

Motor Plate

Linear Bearing Plate

Gusset (Blade)

Ram Plate

Clamp to Ram Plate

Clamp- Arm

Fence- Short

Clamp Bush

RamEnd

Fence- Long

Dust Guard

Clamp Arm

Gusset Fence

Dust Extraction Shroud (Welded Assembly)
Valve Cover

Sensor Plate

Bump Stop

T-bolt M10x32

CP96SD ISO Cylindstandard Double Acting
CP96/C96_GK1Rod Clevis
CP96/C94-Foot

VM4003 Port Mechanical Valve
Blade- 600mm x 35mnBore x 84tt- 3500 RPM
HGHS3O0CA Linear Bearing block
HGH3O0CA Linear Bearing R440 Long
CEG Motor 5.5 kW

Hex Socket Head Cap Screw M10x100
HexSocket Head Cap Screw M12x30
Hex Socket Head Cap Screw M12x40
Button Head Cap Screw M6x12

Hex Socket Head Cap Screw M6x25
Hex Socket Head Cap Screw M6x30
Countersunk Cap Screw M6x30

Hex Socket CSK Cap Screw M8x25
Hex Socket Head Cap Screw M8x30
Hex Socket CSK Cap Screw M8x30
Hex Socket Head Cap Screw M8x40
Hex Socket CRldp screw M8x40

Hex Socket Head Cap Screw M8x70
Half Hex Nut M12

Hex nut M10

Operations Manuat, Spida Snip Saw 600



44
45
46
a7

48
49

35

SrIDA

MACHINERY

HWNHM12
HWRS3830M6
HWWFM10
HWWFM12
HWWFM616
HWWFM816

Hex nut M12

Rubber Stopper 38mm Dia.
Washer Flat M10

Flat washer M12

Washer- Flat- M6ZP

Flat Washer M8

Operations Manuat, Spida Snip Saw 600



5 srPIDA

MACHINERY

11 Maintenance

If a part is damaged substantially, or if anything covered in this maintenance section cannot be
fixed by general maintenance; then do not use tismnip Saw 60@nd cortact a supervisor,
maintenance engineer, or Spida Machinery.

Tablel2, Maintenance intervals

Check Day Week Month % Year
Guards in place X

Work area is clear

Cylinder operation

Linear Rail and Bearings operation
Motor Brakeoperation

Dust Chute Clear

Sensors

Cleansaw of anybuild up

Noises or Vibrations

Clean aluminium extrusion slots
Emergencytop working

Drain moisture from air reservoir X
Air supply pressure
Pneumatic Filter X
Baseassembly in good condition

Guardassembly in good condition
Motor/Bladeassembf in good condition

Motor running smoothly

Forlooseor damagedolts

Blow out Brake/Back cover

Floor bolts for tightness X
Table top
Maintain Snip Saw00 X

X X X X X X X X X X
x

X X X X X X

x

Failure to perform these checks as per schedule indicatda@liel2 may result
in severe damage or a serious accident.

WARNINGEIlectrical power and Pneumatia Aupply must be isolated from
machinery and appropriate danger tagging in place whenever any maintenance is
being performed on machinery. Any defects, which are found on inspection,
should be rectified immediately and reported to the supervisor for appede

action.

36 Operations Manuat, Spida Snip Saw 600



5 srPIDA

MACHINERY

11.1 Maintenance Items

11.1.1 Guards
Check Guards are in pla@mdthey are tight, with no loose boltssuards should always be
operational.

11.1.2 Keep work area clear

Ensure that the area surrounding tismip SavB00is free of trip hazards, unnecessary tools, or
other debris.There should be no reason for passbysto approach or pass near the Snip S0
while it is in use.

11.1.3 Inspect Cylinder
Thepneumatic cylinder should slide freely, push and pull evenly, and there should be no excessive
wear visible on shafts. Check for loose fastenings or damage to the air cylinder.

Testthe cylinder before work commences each day.

- The clamp should hold theaterial tightly, and without misalignmentest theclampfor
tightness before work commences each day. Using a spare piece of wood, activate the clamp
and test the rigidity of the wood to ensure that the clamsstill holding as required

- TheMotor shoud activate/deactivatesmoothly. Itshouldhold the saw blade up high enough to
make the required cut, and should hold the saw blade down below the level of the table when

not required.
- The clamp and the motor are both driven by the same cylinder, andagetit the same time
and in opposite directions. E.g. when the motor is brought upward, the clamp<dowen.

Do not use theSnip SavB00 if any of the cylinders are not activating properly or as described above.

11.1.1 Inspect Linear bearings and Rails

All lirear bearings should move freely and evenly, and there should be no excessive wear visible on
bearings, linear rails, and/or connection points. Check for loose fastenings or damage to the
bearings, linear rails and/or connection poingédclean out any bilt-up debris or dust

Do not use theSnip Saw 60D the bearings are not moving as required, or if there is any major
damage to the bearings, linear rails and/or connection points.

37 Operations Manuat, Spida Snip Saw 600



5 srPIDA

MACHINERY

11.1.2 Motor Brake operation

The Motor brake should stop the saw blade withi8 6econds when the Saw has been switched off
or the emergency stop has been applied. Do not use the saw if the time for the blade to stop is too
long. This test should be performed before using the machatdeast once a day.

The magnetic friction brake can be adjusted by setting the correct clearance between the friction
plate and the coil using the cap screw located in the centre of the brake shaft.

NOTHor the brake to functiorefficiently, the gap between the brake pad and plate should be set
between 8¢ 10 thou, approximately 5/8of a turn.

FPC Brake Adjustment
Back shield  Key Electromagnet Mobileanchor Self-locking nut  screw

T
j1

Motor Shaft  Spring Brakinggap  Frictionpad  Cooling fan Washer

Figurell, Motor brake assembly

11.1.3 Dust Chute Clear

Once a day the dust chute should be checked for any olstnscor buildup of saw dust. If any
large obstruction is found, isolate the power to the Saw and remove the blade cover before
attempting to remove said obstruction.

11.1.1 Sensors
Checl.id sfety valve(seeFigured), isfree and clear of any buHdp of dust and securely fastened,
sensor malfunctions will prevent theni Saw600 from working correctly.

As the other sensors are below the level of the table twgck the condition of sensors ankkar
any builtup dustand debrisvhen cleaning the rest of the saw of any build up.

If any of the sensors are loose, check sleasors are still located correctind that there is a 1.§
2.5mm gap between the sensor aagpropriate sensor platghen tighten any screws/partss
required.

Sensor positions will need to be reset whenever a sensor, lead or bracket is replaced.

38 Operations Manuat, Spida Snip Saw 600



5 srPIDA

MACHINERY

11.1.2 CleanSawof any build up

Keep theSawfree of any buileup of debris. Moving parts should not be obstructed, and $iasv
should be usable without any hinrthce. Remove and replace components as required to deaan
any builtup debris or dust; ensure that any components removed are then replaced corrBuidy.
may involve removing the side panel and cleaning the interior or the saw around the motorrand ai
cylinder.

Ensure there are noffcuts or any sawdudilocking thesaw. If there are any obstructions that
prevent the saw blade from moving freely, then only attempt to free the blade once the saw has
been electrically isolated.

11.1.3 Noisesor vibrations
Tale note of anyunusual noises or vibrations. Do not operate the Sdieifcause of any vibrations
or unusual noises cannot be found

11.1.4 Clean aluminium extrusion slots
Keep aluminium slots in Saw and fence clean and free of any dust or obstructions.

11.1.5 Emergencystop Button
Checkthe Emergency Stop wgorking and thait stopsthe machine when activated. This test should
be performed before using the machine, at least once a day.

Check perational controls are working, and that they function as designed. Inspect these other
controls at regular intervals.

11.1.6 Dry Air Supply

Forbest results, clean dry air is essential. A drain valve is provided on the air reservoir and this
should be opened weekly to drain any condensation; or when moisture is seen in the reservoir prior
to commencing work.

11.1.7 Air Supply

Air pressure should be magined at 606800 kPathis can be checked at the filteegulator (see
Figure6), located onthe rear ofthe Saw Take measures to ensure air qualiéych as by installing

an aftercooler, air dryer, or water separator. Do not use compressed air that contains chemicals;
synthetic oils, including organic solvents; or salt or corrosive gases, etc., as it can cause either
damage or a méunction. Ifsynthetic oil is used for the compressor oil, depending on the type of
synthetic oil used, or on the conditions of use, there may be adverse effects on the resin of the
pneumatic equipment or on the seals if the oil is flowed out to the outlet side; so, the nmouot a
main line filter is recommended.

11.1.8 Check Filter/Regulator

Periodically check the filter and regulator for any cracks or damage. If condensation in the drain
bowl is not emptied on a regular basis, the bowl will overflow and allow the condensatentdo

the compressed air lines. Water can cause malfunction of pneumatic equipment. The filter and
regulator arelocated on therear ofthe Saw SeeFigure6 for regulator parts

Also, be sure to check the pneumatic lines at the séime for possiblekinks,air leaks or other
damage

39 Operations Manuat, Spida Snip Saw 600



5 srPIDA

MACHINERY

11.1.9 BaseAssemby

Thebaseassembly shoullouse and protect the saw blade, while allowing for the removal of saw
dustand debris; it should also allotive saw blade to spin and cut easily while protecting the user
from the saw blade.

This assemblghould be maintained every month to:

- Ensure the dust chute is free from obstructions

- Check the guards are still in place and in good working order

- Check on the condition of the controls and electrical components

- Ensurethe saw blade is still protected, and that the user is protected from it.

All assembly components should also be checked to ensure there is no damage trateal

affect the performance of the assemblEnsure that there are no loose, damaged, or missing bolts,
and replace or tighten as necessary.

Do not use the Sawthe saw blade ismlonger protected; if any moving parts are exposed to the
user, if dust and debris is not being expelled correctly from the machond;anyof the controls are
not functioning as designe@nd if any of the above cannot be fixed by general maintenance

11.1.10 Guardassemb}

TheGuard assembly should protect the user from Hasv blade while the sablade is in motion.

The saw bladvill not activate unless the lid is completely closed, and if the lid is lifted during a cut
the saw bladewill immediately drop beneath the level of the table top.

Note: it should not be requiredo lift the lid during the general operation of the machine.

This assemblghould be maintained every month to:

- Check thdid can fully open and close without problems

- Checkhe lid is still aligned correctly and not fatally damaged

- Ensure the lid istill covering both the blade and material when closed

- Ensure that all moving parts are moving correctly, and are free to move

All assembly components should also be checked to ensure there is no damage or wear that will
affect the performance of the assdnties. Ensure that there are no loose, damaged, or missing
bolts, and replace or tighten as necessary.

Do not use the Sawtifie guard assembly is no longer protecting the user from the blade or from
flying debris; if the lid cannot easily open and/orsgoor if the lid is badly damaged and/or
misaligned and if any of the above cannot be fixed by general maintenance

11.1.11 Motor/Blade assembly

Themotor/blade assemblghould allow theblade and clamp arm to move up and downr@guired
andshouldalso allow he saw blade to spin and cut easily.

This assemblghould be maintained every month to:

- Ensurethat the clamp arm comes down whenever the saw blade comes up, and vice versa
- Checkhe saw blade is still cutting material correctly and easily

- Check the clamparm is still clamping material firmly and correctly

- Check on the condition of the saw blade

- Ensure that material can easily move in and out of the assembly

- Ensure that all moving parts are moving correctly, and are free to move

- Ensure that the motor is $itworking correctly.

All assembly components should also be checked to ensure there is no damage or wear that will
affect the performance of the assemblies. Ensure that there are no loose, damaged, or missing
bolts, and replace or tighten as necessary.

40 Operations Manuat, Spida Snip Saw 600



5 srPIDA

MACHINERY

Do not use the Sawthe saw blade is damaged and/or not moving correctly; if the clamp arm is not
clamping correctly and/or not moving correctly; if material is not being cut corrgttlye motor is
sputtering or stallingor if any moving parts do not have fluid motiand/or are sticking; and if any

of the above cannot be fixed by general maintenance

If the blade is replaced, then be sure to checkahgnmentof the new bladeand check it is still able
to correctly move p and down through the table topAlso, be sure to confirm the new blade
thickness matches the settings in the computer software.

11.1.12 Motor
The motor should stop and start with no issues and should easily either turn the saw blade. Clean
the motor regularly by blowing out dust and other debris with dry compressed air.

- Check blade condition
- Check the brakes
- Check condition of the motor

Do nd use the Saw if there are any substantial or unfixable issues with either of the motors.

11.1.13 Loose Fasteners and Fixings
Check for loose, missingr, damaged bolts especially on guards, cover and floor fixing. Tighten or
replace where necessary.

11.1.14 Table top

Chek thetable topfor excessive wear or damaged replace if necessary. If the blade is interfering
with the table top, check that the blade assemblylasated correctlyThis should be checked every
six months, or when a new saw blade is installed.

11.1.15 Maintain Snip Savé00
Check all major operating compamts for wear, fatigue, and alignmenAdjust, tighten, or replace
components as required.

Do not use the Saw if it @&amaged significantly or if it is not working correctly, and all other
mentioned maintenance is not applicable.

41 Operations Manuat, Spida Snip Saw 600



5 srPIDA

MACHINERY

11.2 Blade Replacement ltem Description

Snip Saw base

Inner flange

Blade

Outer flange

Lock nut

Side Guard Extraction

M6 Washer

M6x20 Button head Cap scre

Tools required:
- 13mm spanner
- 46mmspanner (supplied)

O~NO O WNPE

Tablel3, Blade replacement parts

Figurel2, Blade Removal

Replacement blade$00mm Dia. 35mm bore4teeth, Spida part numbeBL60035848500,
Contact SpiddMachinery for replacement blades.

Before starting make sure machine is isolated electricallyd pneumatically

To replace the blade in saw:
1 Remove theM6x10 cap screwkolding theblade cover.
1 Remove the lock nut on the motor shaft using the 46mm spasopplied.
0 The lock nut will béeft-hand thread for a saw with the blade on the right and right
hand thread for a saw with the blade on the left.
1 Once the lock nut has been removed, the outer flange will slide off the motor shaft, enabling
the blade to ke removed.

When installing a new blade make sure blade is seated flat against inner and outer flanges and

flanges are seated straight on motor shaft before tightening lockBetsure to check the height of
the new blade; to ensure that the correct measments are retained.

42 Operations Manuat, Spida Snip Saw 600









































































































